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-module(license).
-export([right_age/1]).

right_age(X) when X >= 16, X =< 104 ->
true;

right_age(_) ->
false.
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defmodule License do
def right_age(x) when x >= and x <= , do: true
def right_age(_), do: false

end
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defmodule Producer do
def produce(dest_pid) do
Stream.repeatedly(&: random.uniform/0) # & AZ(E

|> Stream.with_index #n#&H
|> Stream.each(fn {random, index} -> #{S>&AZfE n&EH}
spawn fn -> #ATOEXEES

sleeptime = trunc(random * w
10.puts "Producer #{index} FTERM: #{sleeptime}ms"
‘timer.sleep(sleeptime) # 0-2 #iEF>T(EVEDDHY)
I0.puts "Producer #{index} *EU F—79™"
send(dest_pid, index) # dest_pid [CHEEZ%3
end
end)
end
end




]

defmodule Consumer do
def consume(list) do
10.puts "Consumer £HFE—TF (list DH{EE #{length list})"
receive do
X -> #X EZISE075
10.puts "Consumer #{x} Z(FEL/E=—"

if length(list) == 1 do
10.puts "Consumer N7 [E #{hd(list)} & #{x} TYT"
consume([])
else
consume([x])
end
after

->  #5#EF/ELHTELS
10.puts "Consumer BERtIH"
end
end
end
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https://gist.github.com/niku/5796caa4aec4f9edd438
X179 %

:random. seed(:0s . timestamp) # S Y NGIBEERT B/ DIEE
#(BECHL)

Enum.take(Producer.produce(self()), 6) # HHDZOEX self() IC 6 BIfEo>TXES

Consumer . consume([]) # A —2HEE N TSBDEFD
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Let it crash
(7 2w>addR638THET)
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defmodule Calculator do
use GenServer
# Client
def start_link(number), do: GenServer.start_link(__MODULE
def plus(x), do: GenServer.cast(__MODULE__, {:plus, x})

# Server

def init(number) do
10.puts "#{number} MSIADE—T"
{:ok, number}

end

def handle_cast({:plus, x}, state) do
10.puts "#{state} IC #{x} ZBLE—F"
{:noreply, state + x}

end

def terminate(_reason, state) do
10.puts "#{state} TRbU E—7F"
:ok

end
end

number, name: __MODULE__)
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$ iex -r let-it-crash.exs
iex(1)> Calculator.start_1ink(@)
0 DoWEDE—TF

{:0k, #PID<0.68.0>}

iex(2)> Calculator.plus(l)
0IC1%#RBLE—T

1ok

iex(3)> Calculator.plus(3)
1123 28LE-T

:ok

iex(4)> Calculator.plus("bom!™)
4 |C bom! ZBLE—T

:ok
4 TEROLUE—-T
¢:))
iex(1)> Calculator.plus(2)
** (ArgumentError) argument error
:erlang.send(Calculator, {:"$gen_cast", {:plus, 2}})
(elixir) lib/gen_server.ex:614: GenServer.do_send/2
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defmodule Calculator.Supervisor do
use Supervisor

def start_link, do: Supervisor.start_link(__MODULE__, [1])

def init(_arg) do
#EHRIB5REETL T
children = [
worker(Calculator, [0])
]

# B9 S
supervise(children, strategy: :one_for_one)
end
end
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$ iex -r let-it-crash.exs
iex(1)> Calculator.Supervisor.start_link
0 MoIpHE—T

{:0k, #PID<0.71.0>}

iex(2)> Calculator.plus(l)
0IC1ZERBLE—T

1ok

iex(3)> Calculator.plus(3)
1123 28LE-F

1ok

iex(4)> Calculator.plus("bom!™)
4 [T bom! ZRLE—T

4 TRDOYE—T

1ok

0 DOIRHE—T

iex(5)> Calculator.plus(2)
0IC2ZRLE—T

1ok
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# version_up-0.exs
defmodule Successor do
use GenServer

@vsn "Q"

def start_link, do: GenServer.start_link(__MODULE__, 0, name: __MODULE__)
def next_number, do: GenServer.call(__MODULE__, :next_number)

def handle_call(:next_number, _from, state) do
reply = state +
{:reply, reply, reply}
end
end




N= 327y 7RICHEL

# version_up-1.exs
defmodule Successor do
use GenServer

@vsn "1"
def start_link, do: GenServer.start_link(__MODULE__, @, name: __MODULE__)
def next_number, do: GenServer.call(__MODULE__, :next_number)

def handle_call(:next_number, _from, state) do
reply = state +
{:reply, reply, reply}

end

def code_change("0", state, extra) do
10.puts "/N—23 > 0 M5 #{@vsn} [COA—REBZZEZET. SOMEIL #{state}"
{:0k, state * 10}
end
end
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$ iex -r version_up-0.exs
iex(1)> Successor.start_link
{:ok, #PID<0.68.0>}

iex(2)> Successor.next_number

1

iex(3)> Successor.next_number
2

iex(4)> :sys.suspend Successor
:ok

iex(5)> c("version_up-1.exs™)

version_up-1.exs:1: warning: redefining module Successor
version_up-1l.exs:14: warning: variable extra is unused
[Successor]

igx(6)> :sys.change_code Successor, Successor, "@", [
N=23r o »5 1 [CaA—REZEZAET. SOfENR 2
:ok

iex(7)> :sys.resume Successor

:ok

iex(8)> Successor.next_number

30
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import

list(map (lambda x:threading.Thread().start(), range( D)

$ time python3 thread.py
python3 thread.py 59.94s user 45.48s system 124% cpu 1:24.54 total
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Enum.map((1.. ), fn (xX) >
spawn(fn ->
end)

end)

$ time elixir --erl "+P 1000000" spawns.exs
elixir --erl "+P 1000000" fork.exs 5.18s user 8.35s system 148% cpu 9.125 total
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